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Instructions:

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU
ARE TOLD TO DO SO.

2. Write your name and registration number on the cover of this
question booklet.

3. Please use a pencil and write your answers neatly ONLY on the
answer sheet provided. DO NOT write or draw in the circle next
to each answer box. No mark will be given if you failed to follow
this instruction.

4. If the information printed on your answer sheet is not correct,
please inform the invigilator immediately.

5. Rough-work sheets provided will be collected at the end of the
contest but they will not be marked.

6. Diagrams in this question booklet are not necessarily drawn to
scale.
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1) 4x7=7 [1%]
2) 6x9=7? [1%]
3) 42 +7=7? [1%]
4) 64 +-8=7 [1%]
5) 44-26 =7 [1%]
6) 153 +78=7? [1%]
7) 259-136=7? [1%]
8) 375+ 234 =7 [1%]
9) 416-164 =? [1%]
10) 4 X2 x9=7? [1%]
11) 36 -4 +3 =7 [1%]
12) 7x8-18 =7 [1%]
13) 48 -6+ 2 =7 [1%]
14) 9 X7 +46 =7 [1%]
15) 54 -+ 6-9=7? [1%]
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16) 3 hours 45 minutes = ?  minutes [2.0%)]

3INEFAS PiE = _ 2 oiE

17) A watermelon is 39 g heavier than 4 kg. Whatis the [2.1%)]
weight of the watermelon in grams?

—{EA/KLL 4 AFE 39 %, HERAREZDRE?

18) How many right angles are there in the figure [2.2%]
below?

TEXEZMEER?
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19) The pictogram below shows the number of food [2.3%]
items in a fast food restaurant.

TERETTREENSEIYHENE.

-----------------------------------------------------------

,."“ Each picture represents 1 food item \\‘
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The total number of hamburgers and hotdogs is
more than the number of cheese cakes.

EEEMANHENLEERS 18
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20) How many cylinders are there in the figure [2.4%]
below?

TEHXEZ MEEER?
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21) A hexagonal prism has ?  faces. [2.5%]

NAEEREEXEs 2 @Al
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22) Jacky and Thomas are standing face to face. If [2.6%)]
Jacky is facing the west, thenthe ? ison
the right of Thomas.

/N F0 /J\Hﬁﬁih‘ﬁf.% HEEEAE S
INFRYEEE ?7  Fo

23) Form the smallest 4-digit even number by [2.7%]
using the digits below.

FIRIATE T AR —EH/NRImMAI S

2,7,0,1,9
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24) lcanuse ? sticks and 7 plasticine balls to  [2.8%)]
make a hexagonal pyramid.

KAILA 72 XfT&E™M 7 hORBAREE
—{E N RS

25) Find the product of the hundreds digit of [2.9%)]
4376 and the tens digit of 2879.

4376 BB EIEFLL 2879 BN+HMEFEES 2

26) Mandy bought a watch at 68 dollars and 80 [3.0%)]
cents, which was 15 dollars and 60 cents
cheaper than the original price. What was the
original price of the watch?

INER 68T 8 MET—EF ik, LLREEFEET
15T 6 A, MFHENRERSITEZIMH?




MathConceptition 2019

27) Tworibbonsare2m75cmandé6m7 cmlong [3.1%]
respectively. If they are glued together and the

overlapping part is 194 cm long, how long is
the whole ribbon in cm?

BMED AR 2 K 75 BERHM 6 K 7 [ERN4

EREEE, EENORE 194 [EX, PBER4ER
%N‘"‘?

28) Johnny decided to use 100 days to finish a [3.2%]
puzzle. He started puzzling on 5" June and
finished it on 19" September. How many more

days did he actually use than what he
planned?

/NBAETEIA 100 XER—I&EHEl. e 6 B 5 H
BYAEZE 9 A 19 E#mﬁﬁo [ {th B PR A SERX
BFELLRENZ T OX
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29) In the figure, the boy is 1 metre tall. What is [3.3%)]
the approximate height, in cm, of the door?

TE+, BRHNEERIK, FRNEEXAI=ES
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30) How many hours and how many minutes have [3.4%)]
passed?

BT #NRF,iE?

Start time End time

B8 4 B ] 4 OR B ]
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31) A rectangular paperis 24 cm long and 18 cm  [4.0%)]
wide. How many squares with side length of 3 cm
can be cut from the rectangular paper?

EAFEIEHRE 24 cm, B 18 cm. TR
RS MEAERRE 3cm HEAFF?

32) Find the missing number in the pattern. [4.1%)]

RIFFRE, HHERLERIEF.

3,12,6,24, 7?7 ,48, 24,

33) The cost of 4 apples and 3 oranges is $29. The [4.2%]
cost of 2 apples and 1 orange is $12. What is
the cost of 1 orange?

41@&&%% 3{EELEE 29 JT. 2 ﬂﬁliﬁ%*ﬂ 1 {E+E
HE 12 T. 1 {EBEZDT
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34)

There is a 4-digit number, [4.3%]
(1) thesum of its digits is 28;
(1) the sum of its units digit and hundreds
digitis 17;
(i) the tens digit stands for 30; and
(iv) itis an odd number.
What is the number?

B—Em AL g,

(i) ERNMELEFZFME28;

(i) ERNEMSFMEMAEFZFZET:
(iii) EMTAIEFEFRTI0;

(iv) E=—EEE.

1R P R A
35) fA=1,B =2,C=3andsoon, whatis the [4.4%]

units digit of the following product?

B A=1, B=2, C=3, gNtbEH#E ., KL
TRZERAECLEF .

VXWXXXYX/Z

P10
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36) The bus comes every 45 minutes. The first [4.5%]
bus arrived at 8:40 a.m. Johnny arrived the
bus stop at 11:56 a.m. He has to wait
minute(s) for the next bus to

come.

B+& 45 iE—¥, TEITEE LT 8 BF 40 &
FAH. NEAELF 11 BF 56 DiKER L, HE
& DiEFRELE,

37) It is given that 39 x 52 = 2028. Find the [4.6%)]
remainder of 2019 =+ 26.

241 39 x 52 = 2028. #EE 2019 = 26 I
BEEZ D2

38) Simon has more than 1 but less than 100 candies. [4.7%)]
No matter he divides them into groups of 4,
groups of 5, or groups of 6, there is 1 candy
remaining. How many candies does Simon
have?

IXEZR 1 AEDR 100 KRR, hHEERIT
EfOK 4 Ai—4A. 5 hi—#HZK 6 Hi—4H,
WEIFRER 1 . BOAXBRERS DA

P11
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39) How many more dots are there in the 215t [4.8%]
figure than that in the gth figure?

B+ % 21 BAERMEEKLLE 8 AHEEAIER

ZUER?
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40) At most how many right angles can be formed [4.9%]
when drawing 4 squares on a paper?

E—RKLEEFE 4 BEERT, RZATUERZ D
BEfA?

End of paper
£H57T

P12
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